
Rrb Group D CBT - 1 Previous Year Question Paper
Overview
Here, you can solve all the questions asked in Rrb Group D CBT - 1 Previous Year Question Paper on 2018-10-25 in the

Morning exam. The detailed solutions are also provided for every previous year question and some of these questions can

be asked again in your Rrb Group D CBT - 1 exam. There are 100 questions in the exam and 90 minutes are provided for

the Rrb Group D CBT - 1 exam. The Cutoff of the exam was 77 marks hence you should try to score at least 87 marks.

Rrb Group D CBT - 1 Previous Year Question Paper :
Questions and Solutions
Question 1 :
Simplify: (5/8 + 3/4) of 4/11 ÷ 3/16 - 1/2 × 3/4 = ?

Difficulty : Moderate Average Time : 41 Seconds

Options :
1. 3(2/13)

2. 3(4/11)

3. 2(7/24)

4. 1

Solution :

Correct Answer is option 3 i.e. 2(7/24)

Application
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(5/8 + 3/4) of 4/11 ÷ 3/16 – 1/2 × 3/4

[(5 + 6)/8] of 4/11 ÷ 3/16 – 3/8

11/8 × 4/11 ÷ 3/16 – 3/8

1/2 ÷ 3/16 – 3/8

8/3 – 3/8                                  

55/24 = 2(7/24)

Question 2 :
Find the value of sin 45°/sin 30°.

Difficulty : Moderate Average Time : 107 Seconds

Options :
1. 2

2. 2

3. 22

4. 1/2

Solution :

Correct Answer is option 2 i.e. 2

Understanding Application

We know that:

Sin45 = 1/2

Sin30 = 1/2

So,

Sin45/Sin30

= (1/2)/(1/2)

= 2/2

= 2

Question 3 :
Read the given argument and assumptions carefully and select which of the assumptions logically follow(s) from the
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argument Argument: A notice in the highway reads "Maximum Speed limit is 60 Km/Hr" Assumption: 1. People generally

ignore such notices. 2. People will avoid over speeding and follow the rules.

Difficulty : Moderate Average Time : 124 Seconds

Options :
1. Both 1 and 2 follows

2. Only assumption 2 follows

3. Only assumption 1 follows

4. Neither 1 nor 2 follows

Solution :
The correct answer is option 2 i.e. Only assumption 2 follows

Understanding Application

Argument:

A notice in the highway reads

"Maximum Speed limit is 60

Km/Hr"

Assumption:

1. People generally ignore such notices.

(Can’t assume this because it is an important

notice and ignorance can lead to

consequences)

2. People will avoid over speeding and follow

the rules. (It follows as people do this as they

are aware of the consequences like

accidents, fine etc.)

Hence, Only assumption 2 follows.

Question 4 :
The force of attraction between two objects is called the:

Difficulty : Moderate Average Time : 82 Seconds

Options :
1. centripetal force

2. electromagnetic force
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gravitational force

4. centrifugal force

Solution :
The correct answer is option 3 i.e. gravitational force.

Gravitational

force:

The gravitational

force is a force that

attracts any two

objects with mass.

Centripetal

force:

A force that acts on a

body moving in a

circular path and is

directed towards the

centre around which

the body is moving.

Centrifugal

force:

A force, arising from

the body's inertia,

which appears to act

on a body moving in

a circular path and is

directed away from

the centre around

which the body is

moving.

Electromagnetic

force:

Defined as a type of

force that is present

between the charged

particles and a

combination of

magnetic and

electrical forces.

Question 5 :
Four figures have been given of which three are alike in some way and one is different. Choose the odd one out.
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Difficulty : Moderate

Average Time : 75 Seconds

Options :
1. B

2. D

3. A

4. C

Solution :
The correct answer is option 2 i.e. D.

Understanding Application

In the given figures A,

B and C: One shape is

intersecting the other

shape.

But in figure D, both

shapes are apart

from each other and

not intersecting.

Hence, Figure D is

the odd one.

Question 6 :
Choose the option that does NOT belong to the group.

Difficulty : Moderate Average Time : 48 Seconds

Options :
1. Taj Mahal

2. Jami Ul-Alfar Mosque

3. India Gate

4. Charminar

Solution :
The correct answer is option 2 i.e. Jami Ul-Alfar Mosque
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Taj Mahal: Agra, India

Jami Ul-Alfar Mosque: Colombo, Srilanka

India Gate: Delhi, India

Charminar: Hyderabad, India

Here, we can see that except Jami Ul-Alfar Mosque other monuments

are located in India.

Hence Jami Ul-Alfar Mosque is the odd one.

Question 7 :
In an auditorium, the number of rows is equal to the number of chairs in each row. If there are 5184 chairs in total. how

many rows are there?

Difficulty : Moderate Average Time : 60 Seconds

Options :
1. 71

2. 70

3. 73

4. 72

Solution :

Correct Answer is option 4 i.e. 72

Understanding Application

Since the number of rows is equal

to the number of chairs in each

row.

Total number of chairs i.e. 5184

must be a square number.

 

5184 = 2 × 2 × 2 × 2 × 2 × 2 × 3

× 3 × 3 × 3

Hence,

5184 = 8  × 92 2

5184 = 722

Hence, Number of rows = 72

Question 8 :
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'Silappadikaranm' and 'Manimekalai' are the famous ancient books written in which language?

Difficulty : Moderate Average Time : 117 Seconds

Options :
1. Tamil

2. Kannada

3. Sanskrit

4. Telugu

Solution :
The correct answer is option 1 i.e. Tamil.

Silappadikaranm:

Silappadikaranm is

the earliest Tamil

epic.

It is a poem of 5,730

lines in almost

entirely akaval

(aciriyam) meter.

The epic is a tragic

love story of an

ordinary couple,

Kannaki and her

husband Kovalan.
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Manimekalai:

It is a Tamil epic

composed probably

around the 6th-

century.

It is an "anti-love

story", a sequel to

the "love story" in

the earliest Tamil

epic

Silappadikaram,

with some

characters from it

and their next

generation.

The epic consists of

4,861 lines in akaval

meter, arranged in

30 cantos.

Question 9 :
Which is India's first digital village?

Difficulty : Moderate Average Time : 63 Seconds

Options :
1. Khonoma

2. Chizami

3. Akodara

4. Odanthurai

Solution :
The correct answer is option 3 i.e. Akodara.
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Akodara: Akodara is a village in Sabarkantha district of Gujarat

State, India.

It is situated 90 kms away from Ahmedabad.

Under the guidance of Prime Minister Narendra Modi,

the village was adopted by the ICICI Foundation in

2015 and developed as a digitised village.

In 2015, a year before the note ban, Akodara

embarked on an attempt to become India’s first “digital

village.”

Question 10 :
How many rectangles are there in the above figure?

Difficulty : Moderate Average Time : 65 Seconds

Options :
1. 25

2. 30

3. 9

4. 36

Solution :
The correct answer is option 4 i.e. 36.

Understanding Application
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Given figure can be represented

as:

 

There is a short trick to calculate number

of rectangles in such figures:

It has 3 rows and 3 columns:

Number of rectangles

= 32 + 33

= 9 + 27

= 36

 

Comprehension :
The above bar graph represents the production of three grains P, Q, R in four states A, B, C, D.

Question 11 :
The state that produced the minimum grains (all 3 combined) is:

Difficulty : Moderate Average Time : 83 Seconds

Options :
1. D

2. C

3. A

4. B

Solution :

Correct Answer is option 3 i.e. A

Understanding Application
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Extract the data

from the bar graph.

From the bar graph:

Total grains produced by state A = 15 + 10 + 10

= 35

Total grains produced by state B = 5 + 20 + 15

= 40

Total grains produced by state C = 25 + 15 + 10

= 50

Total grains produced by state D = 15 + 25 + 5

= 45

Hence, State A produced minimum grains.

Question 12 :
Modern periodic table is based on ..........

Difficulty : Moderate Average Time : 115 Seconds

Options :
1. atomic number

2. number of positrons

3. atomic mass number

4. number of neutrons

Solution :
The correct answer is option 1 i.e. atomic number.
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Modern periodic

table:

Moseley proposed the modern periodic law according to

which the physical and chemical properties of elements

are the periodic functions of their atomic numbers.

It means that when elements are placed in increasing

order of their atomic number then after regular interval

elements of same properties are repeated.

Mendeleev's periodic table was based on atomic

masses while in Modern periodic table elements were

arranged in the order of increasing atomic numbers in

seven horizontal rows (period) and 18 vertical columns

(groups).

Question 13 :
Keong is 25 years younger than Ryu; 12 years ago, Ryn's age was 2.25 times that of Keong. How old is Ryu now (in

years)?

Difficulty : Moderate Average Time : 78 Seconds

Options :
1. 57

2. 30

3. 42

4. 45

Solution :

Correct Answer is option 1 i.e. 57

Understanding Application Calculation

Suppose

Age of Ryu now = x years

So,

Age of Keong = (x – 25)

years
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12 years ago, Ryn's age

was 2.25 times that of

Keong.

So,

x – 12 = 2.25(x – 25 – 12)

x = 57

Hence,

Age of Ryu now = 57 years

x – 12 = 2.25(x – 25

– 12)

x – 12 = 2.25x –

83.25

1.25x = 71.25

x = 57

Question 14 :
An electric bulb of 100 W is used for 9 hours per day. What will be the 'units' of energy consumed in 1 day by the bulb?

Difficulty : Moderate Average Time : 194 Seconds

Options :
1. 0.9 units

2. 0.6 units

3. 1.2 units

4. 1.9 units

Solution :
The correct answer is option 1 i.e. 0.9 units.

Capacity of bulb = 100 W = 0.1 KW

Time = 9 hours per day.

We know that:

1 unit of energy = 1 KWh

Hence,

'Units' of energy consumed in 1 day by the bulb

= 0.1 × 9 = 0.9 units

Question 15 :
Who is the Finance Minister of India as of 31 August 2018?
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Difficulty : Moderate

Average Time : 51 Seconds

Options :
1. Arun Jaitley

2. P Chidambaram

3. Yashwant Sinha

4. Jaswant Singh

Solution :
The correct answer is option 1 i.e. Arun Jaitley.

Arun Jaitley was the Finance Minister of India as of 31 August 2018.

He was an Indian politician and attorney.

A member of the Bharatiya Janata Party, Jaitley served as the Minister of

Finance and Corporate Affairs of the Government of India from 2014 to

2019.

Jaitley previously held the cabinet portfolios of Finance, Defence,

Corporate Affairs, Commerce and Industry, and Law and Justice in the

Vajpayee government and Narendra Modi government.

He was a Senior Advocate of the Supreme Court of India.

From 2009 to 2014, he served as the Leader of the Opposition in the Rajya

Sabha.

Question 16 :
Which of the following statements is/are true? A. A balanced chemical equation has an equal number of protons of

different elements in the reactants and products. B. An unbalanced chemical equation has an unequal number of protons

of one or more elements in the reactants and products.

Difficulty : Moderate Average Time : 79 Seconds

Options :
1. A and B are both false

2. Only A is true

3. Only B is true

4. A and B are both true
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Solution :
The correct answer is option 4 i.e. A and B are both true.

A. A balanced chemical equation has an equal number of protons of different

elements in the reactants and products:

B. An unbalanced chemical equation has an unequal number of protons of one

or more elements in the reactants and products.

A balanced chemical equation occurs when the number of the atoms (or

protons) involved in the reactants side is equal to the number of atoms in

the products side.

For Example:

N  + 3H  ==== 2NH2 2 3

In the reactant side:

Nitrogen atom = 2, Hydrogen atoms = 3 × 2 = 6

In the product side:

Nitrogen atom = 2 × 1 = 2, Hydrogen atoms = 2 × 3 = 6

Hence, A and B are both true.

Question 17 :
........ became a part of India in 1962.

Difficulty : Moderate Average Time : 78 Seconds

Options :
1. Gujarat

2. Manipur

3. Sikkim

4. Goa

Solution :
The correct answer is option 4 i.e. Goa.
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The Portuguese colonised India in 1510, conquering many parts of the

western coast and establishing several colonies in the east.

By the end of the 19th century, Portuguese colonies in India were limited

to Goa, Daman, Diu, Dadra, Nagar Haveli and Anjediva Island.

The Goa liberation movement was a movement which sought to end

Portuguese colonial rule in Goa.

Portuguese control of its Indian colonies ended only when India invaded

Goa in 1961 and incorporated the territories into the Indian Union.

In October 1962, Panchayat elections were held in Goa, followed by

assembly elections in December 1962.

Question 18 :
Which of the following produces Testosterone in man?

Difficulty : Moderate Average Time : 67 Seconds

Options :
1. Prostate gland

2. Scrotum

3. Testes

4. Vas deferens

Solution :
The correct answer is option 3 i.e. Testes.

Testosterone is produced by the gonads (by the Leydig cells in testes

in men and by the ovaries in women), although small quantities are

also produced by the adrenal glands in both sexes.

It is an androgen, meaning that it stimulates the development of male

characteristics.

Testosterone is a hormone that is responsible for many of the physical

characteristics specific to adult males.

It plays a key role in reproduction and the maintenance of bone and

muscle strength.

Question 19 :
Who demonstrated that objects of different masses would reach the ground together when dropped from the same height?
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Difficulty : Moderate

Average Time : 66 Seconds

Options :
1. Isaac Newton

2. Archimedes

3. Robert Boyle

4. Galileo Galilei

Solution :
The correct answer is option 4 i.e. Galileo Galilei.

According to Galileo, two bodies of different masses, dropped from the

same height, will touch the floor at the same time in the absence of air

resistance.

It is because the acceleration due to gravity is constant for all objects

regardless of the mass, neglecting air resistance.

Question 20 :
Name the popular actress from South India who recently married her Russian boyfriend Andrei Koscheev. Andrei is a

national level tennis player in Russia.

Difficulty : Moderate Average Time : 59 Seconds

Options :
1. Nayantara

2. Shriya Saran

3. Asin thottumkal

4. Sada

Solution :
The correct answer is option 2 i.e. Shriya Saran.
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Shriya Saran, popular actress from South India married her Russian

boyfriend Andrei Koscheev in 2018.

Andrei is a national level tennis player in Russia.

Shriya Saran and her husband Andrei Koscheev got married in a hush-

hush ceremony in Rajasthan in 2018.

Question 21 :
Find the figure that will come in the place of question mark from the answer figures.

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. C

2. D

3. B

4. A

Solution :
The correct answer is option 4 i.e. A.

Understanding Application

The circle in 1st figure

is cut in 4 parts and

these 4 parts

(Segments) are shown

in figure 2.

Similarly,

Rectangle in figure 3

is cut in 4 parts

(Triangles) and those

triangles are shown

separately in figure A

only.

Hence, Figure A will

be the next figure.

Question 22 :
The water image of the above figure is?

Difficulty : Moderate Average Time : 50 Seconds

Options :
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A

2. B

3. C

4. D

Solution :
The correct answer is option 2 i.e. B

Understanding

After carefully observing, we can conclude

that the water image of the given figure is as

shown in figure B.

Note: Since the mirror is placed horizontally

below the question figure, the image will be

formed by inverting the question figure

vertically about the mirror.

That means the top side of the figure will

become the bottom side and vice versa.

Question 23 :
A shopkeeper sells two power banks for Rs. 960 each. On one he gains 20% and on the other he incurs a loss of 20%.

What was his gain or loss in the overall transaction?

Difficulty : Moderate Average Time : 65 Seconds

Options :
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4% gain

2. 5% loss

3. 4% loss

4. 5% gain

Solution :

Correct Answer is option 3 i.e. 4% loss  

Understanding Application

We know the direct formula:

When profit in one item = Loss

in 2  (SP is same)nd

Overall loss = x /1002

Here, x = 20

Hence,

Overall loss = 20 /100 = 4%2

Question 24 :
A wholesaler sells books to a retailer at 10% profit. The retailer sells these books to customers at a profit of 8 %. If the

customer pays Rs. 270 for a book. then find the cost of the book to the retailer.

Difficulty : Moderate Average Time : 116 Seconds

Options :
1. Rs. 500

2. Rs. 400

3. Rs. 330

4. Rs. 250

Solution :

Correct Answer is option 4 i.e. Rs. 250

Understanding Application Calculation
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Suppose Cost of a book

to wholesaler = Rs. x

   

Since wholesaler sells

books to a retailer at

10% profit

So,

Amount paid by retailer for a

book = 1.1x

x (1 + 10/100)

1.1x

Retailer sells these

books to customers at a

profit of 8 %

So,

Amount paid by customers for

a book = 1.188x

1.1x (1 + 8/100)

1.1x × 1.08

The customer pays Rs.

270 for a book

So,

1.1x × 1.08 = 270

1.1x = 250

Hence,

Cost price to retailer = Rs.

250

1.1x × 1.08 = 270

1.1x = 270/1.08

1.1x = 250

Question 25 :
Who is the author of the book "The Interpreter Of Maladies"?

Difficulty : Moderate Average Time : 271 Seconds

Options :
1. Jhumpa Lahiri

2. Sunetra Gupta

3. Arundhati Roy

4. Kiran Desai

Solution :
The correct answer is option 1 i.e. Jhumpa Lahiri.
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Interpreter of Maladies is a book collection of nine short stories by

American author of Indian origin Jhumpa Lahiri published in 1999.

It won the Pulitzer Prize for Fiction and the Hemingway

Foundation/PEN Award in the year 2000 and has sold over 15 million

copies worldwide.

Jhumpa Lahiri is an American author known for her short stories,

novels and essays in English, and, more recently, in Italian.

Question 26 :
You are given a question and two statements. Identify which of the statements is are sufficient to answer the question.

Question: There are 3 shifts in a company. How many employees come in the 3rd shift? Statements: 1. Total employees

are 500. 2. One-fourth of the total employees come in shift 1. 3. The number of employees coming in shift 2 is twice that of

those coming in shift 1.

Difficulty : Moderate Average Time : 74 Seconds

Options :
1. Statements 1, 2 and 3 together are sufficient.

2. Only statements 1 and 2 together are sufficient.

3. Only statements 2 and 3 together are sufficient.

4. All the statements are insufficient.

Solution :

Correct Answer is option 1 i.e. Statements 1, 2 and 3 together are sufficient.

Understanding Application
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Question:

There are 3 shifts in a company.

How many employees come in

the 3rd shift?

Statements:

1. Total employees are 500.

2. One-fourth of the total

employees come in shift 1.

3. The number of employees

coming in shift 2 is twice that of

those coming in shift 1.

Total employee = 500 (Statement 1)

Number of employees in shift 1 =

1/4 × 500 = 125 (Statement 2)

Number of employees in shift 2 = 2

× 125 = 250 (Statement 3)

Hence, remaining employees will be

in 3  shift.rd

Hence, Statements 1, 2 and 3

together are sufficient to answer the

question.

 

 

Question 27 :
The oesophagus and lining of the mouth are also covered with ___________________.

Difficulty : Moderate Average Time : 155 Seconds

Options :
1. Squamous epithelium

2. Ciliated epithelium

3. Columnar epithelium

4. Glandular epithelium

Solution :
The correct answer is option 1 i.e. Squamous epithelium.
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The oesophagus and the lining of the mouth are also covered with

squamous epithelium.

The skin, which protects the body, is also made of squamous epithelium.

These epithelia are common where absorption or transport of materials is

important.

They also play a role in diffusion, osmosis and filtration.

This makes them important in the kidney, in the alveoli of lungs and in the

walls of capillaries.

Question 28 :
Richa has given the following series in the exam. Complete the series from the options given below TAB, TTZBB, TTBBB,

TTTYBBB, TTTCBBB, ..........

Difficulty : Moderate Average Time : 65 Seconds

Options :
1. TTTDBBB

2. TTTEBBB

3. TTTTXBBBB

4. TTTTDBBBB

Solution :
The correct answer is option 3 i.e. TTTTXBBBB

Understanding
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TAB, TTZBB, TTBBB, TTTYBBB, TTTCBBB,

..........

Two alternate series are there:

1: TAB, TTBBB, TTTCBBB (Middle letter is

moving forward by 1 and side letters are

increasing by 1 in each step.)

2: TTZBB, TTTYBBB (Middle letter is moving

backward by 1 and side letters are increasing

by 1 in each step.)

Hence, next term will be from 2nd series:

TTTTXBBBB

Question 29 :
Fats and oils become rancid because of:

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. transpiration

2. reduction

3. oxidation

4. corrosion

Solution :
The correct answer is option 3 i.e. oxidation.

Oxidation of fats, generally known as rancidity, is caused by a biochemical

reaction between fats and oxygen.

In this process the long-chain fatty acids are degraded and short-chain

compounds are formed.

One of the reaction products is butyric acid, which causes the typical rancid

taste.

Question 30 :
The Outstanding Parliamentarian Award for 2017 was given to ___________________.
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Difficulty : Moderate

Average Time : 53 Seconds

Options :
1. Suneet Panicker

2. Jyotiraditya Scindia

3. Bhartruhari Mahtab

4. Mehtab Hussain

Solution :
The correct answer is option 3 i.e. Bhartruhari Mahtab.

Outstanding Parliamentarian Award for 2017 was given to Bhartruhari

Mahtab.

He is Lok Sabha MP and was selected for 2017. He is Biju Janata Dal

(BJD) leader.

The award was established in 1992 by Shivraj Patil who was then

Speaker of Lok Sabha.

Indian Parliamentary Group selects outstanding sitting Member of

Parliament after considering his/her overall contribution in Parliament.

The award is aimed to motivate elected representatives to work better.

Question 31 :
Ratul and Pratul together can complete a task in 18 days. They start the task together, but Ratul had to leave 7 days

before the work got over. As a result it took a total of 23 days to complete the task. How many days would it have taken

Pratul to complete the work by himself?

Difficulty : Moderate Average Time : 78 Seconds

Options :
1. 63

2. 51

3. 72

4. 54

Solution :

Correct Answer is option 1 i.e. 63
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Understanding Application Calculation

Ratul and Pratul

together can complete

a task in 18 days.

Ratul had to leave 7 days

before the work got over i.e.

23 days.

Since they worked together

for 16 (= 23 – 7) days:

 

They worked together

for 16 days.

So,

Work done = 16/18

Remaining work = 1/9

1 – 16/18

2/18 = 1/9

Total time = 23 days

That means Pratul

took 7 days to

complete remaining

work.

1/9  part of work is done byth

Pratul in 7 days.

So,

Time in which total work will

be done by Pratul = 63 days

7 × 9

63

Question 32 :
If sinA = 12/13 then the value of (secA + cosecA) is:

Difficulty : Moderate Average Time : 224 Seconds

Options :
1. 60/221

2. 221/60

3. 11/3

4. 211/60

Solution :

Correct Answer is option 2 i.e. 221/60
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Understanding Application Calculation

Given:

SinA = 12/13 = P/H

Since,

B  = H  – P2 2 2

So, B = 5

B  = 13  – 122 2 2

B  = 169 – 1442

B  = 252

B = 5

SecA = H/B = 13/5

CosecA = H/P = 13/12

So,

(secA + cosecA)

= 221/60

13/5 + 13/12

(156 + 65)/60

221/60

Question 33 :
Dilip invested Rs. 100 for three years at a compound interest rate of 10%. Haru also invested Rs. 100 for three years at

simple interest rate of x %. At the end of three years, both received the same amount of money. What is the value of x?

Difficulty : Moderate Average Time : 214 Seconds

Options :
1. 11.03

2. 11.30

3. 11.05

4. 10.93

Solution :

Correct Answer is option 1 i.e. 11.03

Understanding Application Calculation
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Dilip invested Rs. 100 for

three years at a

compound interest rate of

10%

We know for CI:

A = P(1 + r/100)t

Here,

P = Rs. 100, r = 10%, t =

3

So,

A = Rs. 133.1

A = 100(1 + 10/100)3

A = 100 × 1331/1000

A = 133.1

Haru invested Rs. 100 for

three years at simple

interest rate of x%

For SI:

A = P + PRT/100

Here,      

P = Rs. 100, r = x%, t = 3

So,

A = Rs. (100 + 3x)

A = 100 + (100 × x ×

3)/100

A = 100 + 3x

Since Amount received by

both is same.

So,

(100 + 3x) = 133.1

x = 11.03

 

(100 + 3x) = 133.1

3x = 33.1

x = 33.1/3

x = 11.03

Question 34 :
Find the ODD one out:

Difficulty : Moderate Average Time : 286 Seconds

Options :
1. D

2. B

3. A

4. C

Solution :
The correct answer is option 3 i.e. A.
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Understanding Application

Except for figure A, in other

figures: Half part is shaded

and half is unshaded.

Hence, figure A

is an odd one.

Question 35 :
Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the

statement(s). Statement: Fruit prices are soaring in the market. Conclusions: I. Fruits are becoming a rare commodity. II.

People cannot eat fruits.

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. neither I or II follow

2. Either I or II follow

3. Only I follows

4. Both I and II follow

Solution :
The correct answer is option 1 i.e. Neither I nor II follows

Understanding Application

Statement:

Fruit prices are soaring in the

market.

 

Conclusions:

I. Fruits are becoming a rare commodity.

II. People cannot eat fruits.

The reason for high prices could be

anything like less production due to

unfavourable weather conditions, high

demand etc.

Hence, Neither I nor II follows.

Question 36 :
Which Indian state is the home to the Taj Mahal?
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Difficulty : Moderate

Average Time : 87 Seconds

Options :
1. Delhi

2. Delhi

3. Uttar Pradesh

4. Uttarakhand

Solution :
The correct answer is option 3 i.e. Uttar Pradesh.

Taj Mahal: The Taj Mahal is an ivory-white marble

mausoleum on the south bank of the Yamuna

river in the Indian city of Agra in Uttar Pradesh.

It was commissioned in 1632 by the Mughal

emperor Shah Jahan (reigned from 1628 to

1658) to house the tomb of his favourite wife,

Mumtaz Mahal; it also houses the tomb of Shah

Jahan himself.

It was declared a winner of the New7Wonders of

the World (2000–2007) initiative.

Question 37 :
Choose the correct picture from the below options that fits the blank space.

Difficulty : Moderate Average Time : 73 Seconds

Options :
1. D

2. C

3. B

4. A

Solution :
The correct answer is option 1 i.e. D
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Understanding Application

Second figure is just mirror

image of first figure if the mirror

is on the right side.

Similarly,

Mirror image (If mirror is on the right

side) of 3rd figure will be as shown in

figure D.

Question 38 :
In the figure given below, if an object is moved from A to B (consider the height of AB=h), in which situation the work done

on the object is mgh?

Difficulty : Moderate Average Time : 82 Seconds

Options :
1. Both path 1 and 2

2. In path 1

3. In path 2

4. Neither path 1 nor path 2

Solution :

Correct Answer is option 1 i.e. Both path 1 and 2

We can see that the height is same in both the situation i.e. h.

Hence,

Work done in both will be same.

Question 39 :
Which of the following is the implementing ministry of Jeevan Jyoti Beema Yojana of Government of India?

Difficulty : Moderate Average Time : 68 Seconds

Options :
1. Commerce & Industry

2. Commerce & Industry
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Finance

4. Agriculture & Farmers Welfare

Solution :
The correct answer is option 3 i.e. Finance.

Jeevan Jyoti

Beema Yojana:

Pradhan Mantri Jeevan Jyoti Bima Yojana is a

government-backed Life insurance scheme in India.

It was originally mentioned in the 2015 Budget

speech by Finance Minister Sri Arun Jaitley in

February 2015.

It was formally launched by Prime Minister Narendra

Modi on 9 May in Kolkata.

Ministry: Ministry of Finance

It has an annual premium of Rs. 330 and In case of

death due to any cause, the payment to the

nominee will be Rs. 2 lakh.

Question 40 :
Which of the option figures bears the closest resemblance to the question figure?

Difficulty : Moderate Average Time : 72 Seconds

Options :
1. C

2. A

3. B

4. D

Solution :
The correct answer is option 3 i.e. B

Understanding Application
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Figure resemblance. After carefully observing and rotating the

question figure by 180 degree, we can

conclude that this figure is same as the figure

given in option B.

Question 41 :
Who among the following players won the 2017 Madrid Open Title?

Difficulty : Moderate Average Time : 69 Seconds

Options :
1. Rafael Nadal

2. Kevin Anderson

3. Juan Martin

4. Roger Federer

Solution :
The correct answer is option 1 i.e. Rafael Nadal.

Rafael Nadal went on to win his 5  Madrid Open title, defeating Dominic

Thiem in the final, 7 – 6, 6 – 4.

th

The Madrid Open is a joint men's and women's professional tennis

tournament, held in Madrid, during early May.

Roger Federer was the only player to win the tournament on three

different surfaces: hard courts (2006), red clay (2009), and blue clay

(2012).

Question 42 :
In a school, the number of students in Grades 4, 5 and 6 were 215, 258 and 301 respectively. If every grade was divided in

sections and every section had the same number of students, what was the minimum number of sections in all in these

three classes?

Difficulty : Moderate Average Time : 68 Seconds

Options :
1. 17

2. 17
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18

4. 16

Solution :

Correct Answer is option 3 i.e. 18

Understanding Application

Number of students

in Grades 4, 5 and 6

were 215, 258 and

301 respectively.

We can write them as:

215 = 5 × 43

258 = 6 × 43

301 = 7 × 43

Since there are same number of

students in every section, it will be 43

students.

So,

Number of sections = 5 + 6 + 7 = 18

Question 43 :
An athlete runs 400 m in 20 s. Calculate the average speed of the athlete.

Difficulty : Moderate Average Time : 118 Seconds

Options :
1. 40 ms1

2. 40 ms1

3. 20 ms1

4. 4 ms1

Solution :

Correct Answer is option 3 i.e. 20 ms-1
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Understanding Application Calculation

Distance = 400m

Time = 20 s

Speed = Distance/Time

So,

Speed = 20 ms-1

400/20

20

Question 44 :
Find the next figure for the given series:

Difficulty : Moderate Average Time : 132 Seconds

Options :
1. D

2. D

3. B

4. C

Solution :
The correct answer is option 3 i.e. B.

Understanding Application

To get figure 2, one

shape is added in

upper side of figure 1.

Similarly,

To get figure 4, same

shape will be added

to figure 3.

Hence, we will get

the answer figure B

as the next figure of

the series. 

Question 45 :
Select the option that is related to the third word on the same basis as the second word is related to the first word. Chalk :

Board : : Pencil :
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Difficulty : Moderate

Average Time : 53 Seconds

Options :
1. Pen

2. Pen

3. Cloth

4. Paper

Solution :
The correct answer is option 4 i.e. Paper.

Understanding Application

Chalk : Board

Chalk is used to write

on the Board.

Similarly;

Pen is used to write

on the paper.

Question 46 :
What is the largest size of square tiles that can be used to cover the floor of a room of size 5.25m × 4.55m ?

Difficulty : Moderate Average Time : 49 Seconds

Options :
1. 25 cm

2. 35 cm

3. 45 cm

4. 55 cm

Solution :

Correct Answer is option 2 i.e. 35 cm

Understanding Application Calculation
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Given:

Room size

= 5.25m  × 4.55m

= 525cm × 455cm

Largest size of square

tiles

= LCM of 525 & 455

= 35 cm

525 = 5 × 5 × 3 × 7

455 = 5 × 7 × 13

So,

LCM = 5 × 7 = 35

Question 47 :
In liquids, a small fraction of particles at the surface have:

Difficulty : Moderate Average Time : 149 Seconds

Options :
1. more potential energy

2. more kinetic energy

3. less potential energy

4. less kinetic energy

Solution :
The correct answer is option 2 i.e. more kinetic energy.

In the case of liquids, a small fraction of particles at the surface have

higher kinetic energy and this is able to break away from the forces

of attraction of other particles and gets converted into vapour.

Evaporation is a surface phenomenon. Particles from the surface

gain enough energy to overcome the forces of attraction present in

the liquid and change into the vapour state.

Question 48 :
Find the odd one out:

Difficulty : Moderate Average Time : 60 Seconds

Options :
1. A

2. A
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D

4. B

Solution :
The correct answer is option 1 i.e. C.

Understanding Application

In figure A, B and D: Two

stars are joined by a

straight line.

While in figure C,

there is no such

line.

Hence, Figure C

is the odd one.

Question 49 :
Which element in the periodic table forms maximum number of compounds?

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. O

2. H

3. S

4. C

Solution :
The correct answer is option 4 i.e. C

Carbon is the element that forms maximum number of chemical

compounds.

Carbon has the property of catenation (long chain formation ability)

which makes it unique in itself.

Hence, a separate branch of chemistry known as organic chemistry

is separately for carbon compounds.

Question 50 :
Mendeleev could not assign a correct position to which of the following elements in his table?
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Difficulty : Moderate

Average Time : 55 Seconds

Options :
1. Potassium

2. Calcium

3. Hydrogen

4. Helium

Solution :
The correct answer is option 3 i.e. Hydrogen.

Mendeleev could not assign a correct position to hydrogen in his table

in the periodic table because hydrogen resembled both alkali metals

(Group 1) and halogens (Group 17) in some of its properties.

Hydrogen reacts with metals to form ionic compounds called hydrides

and also with non-metals to form covalent compounds.

Question 51 :
Which of the following is NOT a plant hormone?

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. Abscisic Acid

2. Abscisic Acid

3. Cytokinin

4. Adrenaline

Solution :
The correct answer is option 4 i.e. Adrenaline.
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Adrenaline:

A stress hormone

produced within the

adrenal gland that

quickens the heart beat,

strengthens the force of

the heart's contraction,

and opens up the

bronchioles in the lungs,

among other effects.

The secretion of

adrenaline is part of the

human 'fight or flight'

response to fear, panic, or

perceived threat.

Other

hormones:

Auxin is a plant hormone

produced in the stem tip

that promotes cell

elongation.

Cytokinins are a class of

plant growth substances

that promote cell division,

or cytokinesis, in plant

roots and shoots.

Abscisic acid (ABA) is a

plant hormone which

functions mainly as a

growth inhibitor.

Question 52 :
The radius of curvature of a spherical mirror is equal to ...........

Difficulty : Moderate Average Time : 69 Seconds

Options :
1. 2f

2. 2f
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f+2

4. f/2

Solution :
The correct answer is option 2 i.e. 2f

The distance from the pole to the focal point is called the focal length (f).

The focal length of a spherical mirror is approximately half its radius of

curvature.

f = R/2

So,

R = 2f

Question 53 :
What comes next (?) in the given series: 12P, 14Q, 18S, 24V, ?

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. 32Z

2. 32Z

3. 30U

4. 30V

Solution :
The correct answer is option 2 i.e. 32Z.

Understanding Application
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Logic:

Multiples of 2 are added in

numbers in consecutive

terms.

The difference between

consecutive letters is

increasing by 1 in each

term.     

12P, 14Q, 18S,

24V, ?

12 + 2 = 14 + 4

= 18 + 6 = 24 +

8 = 32

And

P + 1 = Q + 2 =

S + 3 = V + 4 =

Z

Hence, 32Z is

the next term.

Question 54 :
Read the given question and decide which of the following statements is/are sufficient to answer the question. Question: L

and M are brothers. What will be the sum of their ages 5 years from now? Statements: 1. L is 5 years old now. 2. M is

older to L by a year.

Difficulty : Moderate Average Time : 63 Seconds

Options :
1. Statement 1 alone is sufficient.

2. Statements 1 and 2 together are sufficient.

3. Statements 1 and 2 together are insufficient.

4. Statement 2 alone is sufficient.

Solution :

Correct Answer is option 2 i.e. Statements 1 and 2 together are sufficient.

Understanding Application
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Question:

L and M are brothers. What

will be the sum of their ages

5 years from now?

Statements:

1. L is 5 years old now. 2. M

is older to L by a year.

From statement 1:

L = 5

From statement 2:

M = 5 + 1 = 6

So,

Sum of their ages 5 years from

now = 5 + 5 + 6 + 5 = 21

Hence, Statements 1 and 2

together are sufficient to answer

the question.

Question 55 :
Type 1 workers are two-and-a-half times as efficient as Type 2 workers. If 12 Type 1 workers can complete a task in 10

days, how many days would it take 6 Type 1 and 10 Type 2 workers to complete the same task?

Difficulty : Moderate Average Time : 150 Seconds

Options :
1. 12

2. 15

3. 14

4. 18

Solution :

  Correct Answer is option 1 i.e. 12

Understanding Application Calculation
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12 Type 1 workers can

complete a task in 10

days

So,

Time in which 6 Type 1

workers can complete the

task = 20 days

10 × 2 = 20

Type 1 workers are

two-and-a-half times

as efficient as Type 2

workers.

So,

Time in which 6 Type 2

workers can complete the

task = 50 days

20 × 5/2

50

  So,

Time in which 10 Type 2

workers can complete the

task = 30 days

50 × 6/10

30

Suppose 6 Type 1 and

10 Type 2 workers can

complete the task in x

days.

So,

1/x = 1/20 + 1/30

x = 12 days

1/x = 1/20 +

1/30

1/x = 5/60

x = 12

Question 56 :
The LCM of the prime numbers between 1 to 12 is .........

Difficulty : Moderate Average Time : 267 Seconds

Options :
1. 2020

2. 2020

3. 2310

4. 1010

Solution :
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Correct Answer is option 3 i.e. 2310

Understanding Application Calculation

Prime numbers

between 1 to 12 are

2, 3, 5, 7, 11

LCM of prime numbers will

be multiplication of all the

numbers.

So,

LCM = 2310

2 × 3 × 5 × 7 × 11

2310

Question 57 :
If x + y = 3 , xy = 2 . find the value of x3 —y3.

Difficulty : Moderate Average Time : 125 Seconds

Options :
1. 12

2. 11

3. 5

4. 7

Solution :

Correct Answer is option 4 i.e. 7

Understanding Application Calculation

x + y = 3

xy = 2

We know that:

(x + y)  = x  + y + 2xy2 2 2 

So,

x  + y = (x + y) – 2xy2 2 2 

x  + y = 52 2 

x  + y = 3 – 2 ×2 2 2 

2 = 5
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(x – y)  = x  + y –2 2 2 

2xy

 

So,

(x – y)  = 12

(x – y) = 1

5 – 2 × 2 = 1

Formula:

x  – y  = (x – y)(x  +3 3 2

y  + xy)2

So,

x  – y = 73 3 

1 × (5 + 2) = 7

Question 58 :
......... completed the construction of the Qutub Minar in Delhi.

Difficulty : Moderate Average Time : 243 Seconds

Options :
1. Mohammad Ghazni

2. Mohammad Ghazni

3. Muhammad Tughluq

4. Iltutmish

Solution :
The correct answer is option 4 i.e. Iltutmish.

Qutubuddin Aibak, founder of the Delhi Sultanate, started construction of

the Qutb Minar's first storey in 1199.

Aibak's successor and son-in-law Shamsuddin Iltutmish completed a

further three storeys.

Qutab Minar is a soaring, 73 m-high tower of victory.

Question 59 :
In the diagram above, TU || PS and Points Q and R lies on PS. Also PQT = X°, RQT = (X  60)°,and TUR = (X +

50)°. .What is the measure of URS?

Difficulty : Moderate Average Time : 61 Seconds

Options :
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170°

2. 175°

3. 160°

4. 165°

Solution :

Correct Answer is option 1 i.e. 170°

Understanding Application

Given:       

PQT = X°

RQT = (X – 60)°

TUR = (X + 50)°

Since, TU || PS

URS = TUR

 

From the figure:

PQR = 180

X + (X – 60) = 180

2X = 240

X = 120

So, TUR = 120 + 50 = 170

Hence,

URS = TUR = 170°

Question 60 :
The given Venn diagram represents the number of students in a class who study three languages, French, Spanish and

Japanese. The number of students studying French, Spanish and Japanese is:

Difficulty : Moderate Average Time : 184 Seconds

Options :
1. 4

2. 11
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7

4. 16

Solution :
The correct answer is option 1 i.e. 4

Concept Application

Venn diagram From the given Venn diagram:

Number of students studying French,

Spanish and Japanese = 4

Question 61 :
Indira Pradhan trophy is associated with which sports?

Difficulty : Moderate Average Time : 61 Seconds

Options :
1. Hockey

2. Football

3. Volley Ball

4. Cricket

Solution :
The correct answer is option 3 i.e. Volley Ball.

Cups/Trophies related to Volley Ball:

Shivanthi Gold Cup, Centennial Cup, Indira Pradhan

Trophy, Federation Cup.

Question 62 :
How much would one need to add to the difference of 5.42 and 3.56 to get 10?

Difficulty : Moderate Average Time : 52 Seconds

Options :
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8.14

2. 6.44

3. 1.02

4. 4.58

Solution :

Correct Answer is option 1 i.e. 8.14

Application

Difference of 5.42 and 3.56

= 5.42 – 3.56

= 1.86

We need to get 10:

So, number that should be added

= 10 – 1.86

= 8.14

Question 63 :
In December 2017, which union minister launched a new start-up incubation centre called 'Centre for Entrepreneurship

Opportunities and Learning' in Mangaluru?

Difficulty : Moderate Average Time : 94 Seconds

Options :
1. Arun Jaitley

2. Arun Jaitley

3. Sushma Swaraj

4. Nirmala Sitharaman

Solution :
The correct answer is option 4 i.e. Nirmala Sitharaman.
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Centre for Entrepreneurship Opportunities and Learning, commonly

known as CEOL, is a startup incubation centre situated in Mangalore city

of Karnataka in India.

It was launched by Nirmala Sitharaman in 2017.

CEOL aims to create a Silicon Valley in the west coast of India.

The objectives of CEOL are:

Offer help and support to startups

Bring in venture capital

Bring industries to interact with startups

Bring mentors to guide new entrepreneurs

Question 64 :
Which of the following is not a Connective Tissue?

Difficulty : Moderate Average Time : 65 Seconds

Options :
1. Cartilage Tissue

2. Muscular Tissue

3. Adipose Tissue

4. Ligament

Solution :
The correct answer is option 2 i.e. Muscular Tissue.

What is Connective

Tissue?

Connective tissue, group of tissues in the body

that maintain the form of the body and its organs

and provide cohesion and internal support.

The connective tissues include several types of

fibrous tissue that vary only in their density and

cellularity, as well as the more specialized and

recognizable variants—bone, ligaments, tendons,

cartilage, and adipose (fat) tissue.

Question 65 :
Given HCF of (16, 100) = 4, what is the LCM of (16, 100)?
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Difficulty : Moderate

Average Time : 65 Seconds

Options :
1. 400

2. 398

3. 440

4. 298

Solution :

Correct Answer is option 1 i.e. 400

Understanding Application Calculation

HCF of (16, 100) = 4 We know the formula:

HCF × LCM = Product of 2

numbers

So,

LCM = 400

4 × LCM = 16 × 100

LCM = 1600/4

LCM = 400

Question 66 :
How much work is done in moving a charge of 5 C across two points having a potential difference of 16 V?

Difficulty : Moderate Average Time : 137 Seconds

Options :
1. 50 J

2. 45 J

3. 40 J

4. 80 J

Solution :
The correct answer is option 4 i.e. 80 J.
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Given:

Charge q = 5 C, Potential difference = 16 V

We know that:

Work done W = qV

So,

Work done in moving = 5 × 16 = 80 J

Question 67 :
Who is Arunima Sinha?

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. First Indian business woman to reach a billion dollar net worth

2. First Indian business woman to reach a billion dollar net worth

3. First Indian physically challenged lady to scale Mt. Everest

4. First Indian lady fire fighter

Solution :
The correct answer is option 3 i.e. First Indian physically challenged lady to scale Mt. Everest.

Arunima Sinha: Arunima Sinha is an Indian mountain climber and

sportswoman.

She is the World's first female amputee to scale

Mount Everest, Mount Kilimanjaro, Mount Elbrus,

Mount Kosciusko, Mount Aconcagua, Carstensz

Pyramid and Mount Vinson.

Her aim was to climb each of the continents' highest

peaks and hoist the national flag of India.

She has already done seven peaks till 2014.

Question 68 :
If Seeta walks from her home to school at a speed of 4 km/h, she is late by 9 min. If she walks at a speed of 6 km/h, she

reaches the school 6 min early. What is the distance between her school and her home?
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Difficulty : Moderate

Average Time : 84 Seconds

Options :
1. 5 km

2. 7 km

3. 6 km

4. 3 km

Solution :

Correct Answer is option 4 i.e. 3 km

Understanding Application

Suppose original time = t hours

Distance = x km

 

If Seeta walks at a speed of 4

km/h, she is late by 9 min.

So,

x/4 – 9/60 = t …….(1)

If Seeta walks at a speed of 6

km/h, she is early by 6 min.

So,

x/6 + 6/60 = t …….(2)

Equating both equations: x/4 – 9/60 = x/6 + 6/60

x/4 – x/6 = 15/60

x/12 = 1/4

x = 3

So,

Distance = 3 km

Question 69 :
Who introduced the Economic Survey for the year 2017 in the Parliament of India?
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Difficulty : Moderate

Average Time : 201 Seconds

Options :
1. Sushma Swaraj

2. P Chidambaram

3. Arun Jaitley

4. Piyush Goyal

Solution :
The correct answer is option 3 i.e. Arun Jaitley.

Arun Jaitley: He was an Indian politician and attorney.

A member of the Bharatiya Janata Party, Jaitley

served as the Minister of Finance and Corporate

Affairs of the Government of India from 2014 to

2019.

He was a Senior Advocate of the Supreme Court of

India.

Economic

Survey of

India:

The Economic Survey of India is the flagship annual

document of the Ministry of Finance, Government of

India.

The Department of Economic Affairs, Ministry of

Finance presents the Survey in the Parliament every

year, just before the Union Budget.

It is prepared under the guidance of the Chief

Economic Adviser of India.

Arun Jaitley introduced the Economic Survey for the

year 2017 in the Parliament of India.

Question 70 :
Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the

statement(s). Statement: No men are strong X is a man Conclusions: 1. X is not strong 2. All men are X

Difficulty : Moderate Average Time : 108 Seconds

Options :
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Only conclusion 1 follows

2. Only conclusion 2 follows

3. Either 1 or 2 follows

4. Both 1 and 2 follows

Solution :
The correct answer is option 1 i.e. Only conclusion 1 follows.

Understanding Application

Statement:

No men are strong.

X is a man

Venn diagram can be drawn:

 

Conclusions:

1. X is not strong: True (Clearly shown

in the figure)

2. All men are X: False (As X is a single

person)

Hence, Only conclusion 1 follows.

Question 71 :
As of August 2018, who was the chief justice of India?

Difficulty : Moderate Average Time : 85 Seconds

Options :
1. Deepak Mishra

2. J. Chelameswar

3. J. S. Khehar

4. Madan B. Lokur

Solution :
The correct answer is option 1 i.e. Deepak Mishra.
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Justice Dipak Misra is an Indian jurist who served as the 45th Chief

Justice of India from 28 August 2017 till 2 October 2018.

He succeeded J. S. Khehar, the 44th Chief Justice.

The present CJI is Justice Sharad Arvind Bobde,and is the 47th CJI.

He succeeded Justice Ranjan Gogoi on 18 November 2019, and will

remain in office till 23 April 2021

Question 72 :
You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the

question. Question: In Country X, after 1975 why there was no major breakthrough in nuclear science study? Statements:

1. Scientists are not given that state of art infrastructure. 2. Scientists believe the development nuclear science in the west

is enough of the development of the country

Difficulty : Moderate Average Time : 73 Seconds

Options :
1. 1 alone is sufficient while 2 alone is not sufficient

2. Both 1 and 2 together are not sufficient

3. 2 alone is sufficient while 1 alone is not sufficient

4. Either 1 or 2 alone is sufficient

Solution :

Correct Answer is option 2 i.e. Both 1 and 2 together are not sufficient

Understanding Application
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Question:

In Country X, after 1975 why

there was no major

breakthrough in nuclear

science study?

Statements:

1. Scientists are not given

that state of art infrastructure.

2. Scientists believe the

development nuclear science

in the west is enough of the

development of the country.

In the question, it is mentioned

that after 1975, no major

breakthrough happened that

means before 1975, the condition

was good.

That means statement 1 does not

go with it.

Sentence 2 can’t be used to

answer the question.

Hence,

Both 1 and 2 together are not

sufficient.

Question 73 :
The sex of the children will be determined by what they inherit from the:

Difficulty : Moderate Average Time : 152 Seconds

Options :
1. nature

2. father

3. mother

4. mother and father

Solution :
The correct answer is option 2 i.e. father.
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Men determine the sex of a baby depending on whether their sperm is

carrying an X or Y chromosome.

Sex chromosome of Father is XY and that of mother is XX always.

An X chromosome of father combines with the mother's X chromosome

to make a baby girl (XX) and a Y chromosome of father will combine

with the mother's to make a boy (XY).

In any case, mother’s chromosome will be same i.e. X so it is father

who determines the sex of the child.

Question 74 :
What day of the week would it be on 30th March 2020?

Difficulty : Moderate Average Time : 67 Seconds

Options :
1. Sunday

2. Saturday

3. Monday

4. Friday

Solution :
The correct answer is option 3 i.e. Monday

Understanding Application

We need to to calculate number

of odd days.

 

30th March 2020 = 2000 years + 19 years +

(31 + 29 + 30) days

Number of odd days in 400 years

= 0

So, number of odd days in 2000 years = 0
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Number of odd days leap year

and non-leap year is 2 and 1

respectively.

From 2001 to 2019: 4 leap years and 15

non leap years.

So,

Number of odd days in 19 years = 4 × 2 +

15 = 23

Days in 2020 = (31 + 29 + 30) =

90

So,

Number of odd days in 90 days = 6

Total odd days = 0 + 23 + 6 = 29 29 (= 4 × 7 + 1) odd days will be deducted

to 1 odd day.

  One odd day means Monday Hence, it will

be Monday on 30th March 2020.

Question 75 :
Two pipes A and B can fill an empty cistern in 4.8 and 7.2 hours, respectively. Pipe C can drain the entire cistern in 9.6

hours when no other pipe is in operation. Initially when the cistern was empty, Pipe A and Pipe C were turned on. After a

few hours. Pipe A was turned off and Pipe B was turned on instantly. In all it took 16.8 hours to fill the cistern. For how

many hours was Pipe B turned on?

Difficulty : Moderate Average Time : 175 Seconds

Options :
1. 11.55

2. 12.6

3. 10.5

4. 10.8

Solution :

Correct Answer is option 4 i.e. 10.8  

Understanding Application Calculation
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Pipes A and B alone can

fill an empty cistern in 4.8

and 7.2 hours

respectively.

Pipe C alone can drain the

entire cistern in 9.6 hours.

Suppose

Capacity of the cistern

= LCM of 4.8, 7.2 and

9.6

= 28.8 units

4.8 = 2 × 2.4

7.2 = 3 × 2.4

9.6 = 4 × 2.4

So,

LCM = 4 × 3 × 2.4

28.8

Efficiency = work/time So,

Efficiency of A = 6

28.8/4.8 = 6

Efficiency = work/time So,

Efficiency of B = 4

28.8/7.2 = 4

Efficiency = work/time So,

Efficiency of C = -3

28.8/9.6 = 3

Suppose B was turned on

for ‘x’ hours.

Total time = 16.8 hr

So,

A and C were on for

(16.8 – x) hours.

 

Since A and C were on for

(16.8 – x) hours.

So,

Cistern filled = 50.4 – 3x

(16.8 – x) × (6 –

3)

50.4 – 3x

B and C were on for x

hours.

So,

Cistern filled = x

x × (4 – 3)

x
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Since total capacity of

cistern = 28.8 units

So,

50.4 – 3x + x = 28.8

x = 10.8

Hence,

B was turned on for 10.8

hours.

50.4 – 3x + x =

28.8

2x = 21.6

x = 10.8              

Question 76 :
Simplify the following expression: (2/3 × 1/6) + (2/3 × 7/2) – (13/4 × 4/3) = ?

Difficulty : Moderate Average Time : 494 Seconds

Options :
1. 14/3

2. -17/9

3. 29/3

4. 23/9

Solution :

   Correct Answer is option 2 i.e. -17/9

Application

(2/3 × 1/6) + (2/3 × 7/2) – (13/4 × 4/3)

1/9 + 7/3 – 13/3

(1 + 21 – 39)/9

-17/9

Question 77 :
Consider the statement and the following arguments and decide which of the arguments is/are strong with respect to the

statement. Statement: To save the city from air pollution, should citizens use more public transport? Arguments: I. Yes,

everybody should only use public transport unless it is an emergency II. No, it is not a very good idea to use public
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transport as it might not be convenient for all

Difficulty : Moderate Average Time : 97 Seconds

Options :
1. Only argument I is strong

2. Only argument II is strong

3. Both arguments I and II are strong

4. Neither I nor II is strong

Solution :
The correct answer is option 1 i.e. Only argument I is strong

Understanding Application

Statement:

To save the city from air

pollution, should citizens use

more public transport?

Arguments:

I. Yes, everybody should only use public transport

unless it is an emergency: Strong (It is a very

effective way to reduce the air pollution.)

II. No, it is not a very good idea to use public

transport as it might not be convenient for all: Not

strong (It might be inconvenient for some but it is

very good idea and public transport facility can be

improved to make it convenient for all)

Hence, Only argument I is strong.

Question 78 :
In a mixture of 50 liters, milk and water are in the ratio of 3:2. How much water should be added to make the ratio of the

two equal?

Difficulty : Moderate Average Time : 96 Seconds

Options :
1. 20 liters

2. 14 liters
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10 liters

4. 15 liters

Solution :

Correct Answer is option 3 i.e. 10 liters

Understanding Application Calculation

Total quantity = 50

litres

 

Since ratio of milk and water

is 3 : 2.

So,

Amount of milk = 30L

Amount of water = 20L

50 × 3/5 = 30

And

50 × 2/5 = 20

We want to make

the ratio of milk and

water equal.

So,

Amount of water to be added

= 30 – 20 = 10 L

 

Question 79 :
The mean of the 5 smallest numbers from a group is 21 while the mean of all the numbers of the group taken together is

25. If the mean of the numbers, leaving the smallest five out, is 27.5, how many numbers were there in the group in all?

Difficulty : Moderate Average Time : 183 Seconds

Options :
1. 12

2. 13

3. 8

4. 14

Solution :

Correct Answer is option 2 i.e. 13
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Understanding Application Calculation

Suppose there are total

x numbers.

Mean of all the numbers

is 25.

So,

Sum of x numbers = 25x

 

Mean of smallest 5

numbers is 21.

So,

Sum of smallest 5 numbers =

105

5 × 21

105

Mean of remaining

numbers is 27.5

So,

Sum of remaining numbers =

27.5(x – 5)

27.5 × (x – 5)

Sum of x numbers =

Sum of smallest 5

numbers + Sum of

remaining numbers

Hence,

25x = 105 + 27.5(x – 5)

x = 13

So,

Total numbers = 13

25x = 105 + 27.5(x –

5)

2.5x = 32.5

x = 13

Question 80 :
Four words have been given of which three are alike in some way and one is different. Choose the odd one out.

Difficulty : Moderate Average Time : 275 Seconds

Options :
1. MP

2. Registrar

3. MLC
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MLA

Solution :
Correct Answer is option 2 i.e. Registrar

MP (Member of parliament), MLC (Member of legislative council), MLA (Member of

legislative assembly): All three are temporary posts and all three are directly or indirectly

elected by the public.

But Registrar is appointed directly by the Government or ruling authority, they are not

elected by the public.

Question 81 :
Consider the given statement and decide which of the given assumptions is/are implicit in the statement. Statement: The

chauffeur was worried as the car fuel gauge showed below red indicator. Assumption: 1. There may be leak in the fuel

tank. 2. The chauffeur should locate a petrol pump.

Difficulty : Moderate Average Time : 74 Seconds

Options :
1. Either 1 or 2 implicit

2. Both 1 and 2 implicit

3. Only assumption 2 implicit

4. Only assumption 1 implicit

Solution :
The correct answer is option 3 i.e. Only assumption 2 implicit

Understanding Application
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Statement:

The chauffeur was worried as the

car fuel gauge showed below red

indicator.

 

Assumption:

1. There may be leak in the fuel tank.

(Not implicit as it rarely happens and if it

is true there should be other indications

also.)

2. The chauffeur should locate a petrol

pump. (Implicit as the car is out of fuel

and it needs to be refilled at petrol pump.)

Question 82 :
Which of the following statements is/are true/false about speed of sound in different media at 25°C? Statement : A. In

water (sea), the speed of sound is 1531 m/s . B. In water (distilled), the speed of sound is 1498 m/s .

Difficulty : Moderate Average Time : 95 Seconds

Options :
1. Only A is true

2. Neither A nor B is true

3. Both A and B are true

4. Only B is true

Solution :
The correct answer is option 3 i.e. Both A and B are true.

Statements:

A. In water (sea), the speed of sound is 1531.

B. In water (distilled), the speed of sound is 1498.

The speed of sound can also be affected by temperature. 1498 meters

per second in distilled water and 1531 m/s in sea water at room

temperatures (20 to 25 °C).

Hence, Both A and B are true.

Question 83 :
What is the ability of a metal to be drawn into thin wires called?
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Difficulty : Moderate

Average Time : 64 Seconds

Options :
1. Ductility

2. Sonorous

3. Malleability

4. Intractability

Solution :
The correct answer is option 1 i.e. Ductility.

The ability of the metals which lets it be drawn to form the thin cross sectional

wire is known as Ductility.

Malleability: The ability of a substance to be beaten into thin sheets.

Intractability: The qualities of being very difficult or impossible to control,

manage, or solve.

Sonorous: capable of producing a deep or ringing sound.

Question 84 :
Who is the first Indian bowler to bag a five-wicket haul in all the three formats of Cricket?

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. Harbhajan Singh

2. Yuzvendra Chahal

3. Bhuvneshwar Kumar

4. Anil Kumble

Solution :
The correct answer is option 3 i.e. Bhuvneshwar Kumar.
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The first ever Indian bowler to bag a five-wicket haul in all the three formats of

Cricket is Bhuvneshwar Kumar.
The Indian death overs specialist has recorded four five-wicket hauls in Tests,

one in ODIs, and one in T20Is.

Other than him, Kuldeep Yadav has also achieved this feat and that too in a

calendar year.

Total 7 players in the world have done this till date.

Question 85 :
In an examination, a candidate must get 65% marks to pass. If a candidate gets 210 marks and fails by 50 marks, out of

how many marks was the examination?

Difficulty : Moderate Average Time : 67 Seconds

Options :
1. 325

2. 335

3. 400

4. 355

Solution :

Correct Answer is option 3 i.e. 400

Understanding Application

Given:

A candidate gets 210

marks and fails by 50

marks:

 

Hence,

Marks at which he will pass = 210 +

50 = 260
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Pass marks = 65%

Suppose total marks =

x

 

So,

0.65x = 260

x = 260/0.65

x = 400

Question 86 :
What comes next in the given series? 6L, 9M, 14O, 21R, ?

Difficulty : Moderate Average Time : 143 Seconds

Options :
1. 32Q

2. 20K

3. 30V

4. 25C

Solution :
The correct answer is option 3 i.e. 30V.

Understanding Application

Logic:

Odd numbers starting with

3 are added in numbers of

consecutive terms.

The difference between

consecutive letters is

increasing by 1 in each

term.        

6L, 9M, 14O,

21R, ?

Here,

6 + 3 = 9, 9 + 5 =

14, 14 + 7 = 21,

21 + 9 = 30

And

L + 1 = M, M + 2

= O, O + 3 = R, R

+ 4 = V

Hence, 30V is the

answer.
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Question 87 :
The given Venn diagram represents the sports preferences of a group of college students. There are three games: A -

Basketball, B - Football and C - Volleyball. Based on the diagram, how many play exactly one game?

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. 5

2. 17

3. 35

4. 44

Solution :
 The correct answer is option 3 i.e. 35

Application

From the venn diagram:

Number of students play exactly one game = 13 + 12

+ 10 = 35

Question 88 :
Which of the following sentence is FALSE?

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. Prithviraj-raso was penned by Chandbardai

2. The Bhakti Movement gave way to the concept of idol worship in India.

3. A chronicle is a historical account of facts and events ranged in chronological order as in a timeline.

4. Archaeological sources include coins, biography, monuments sculptures and other artefacts.

Solution :
The correct answer is option 2 i.e. The Bhakti Movement gave way to the concept of idol worship in India.
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Checking all the options:

1. The Prithviraj Raso is a Brajbhasha epic poem about the life of Prithviraj

Chauhan. It is attributed to Chand Bardai, who according to the text, was a court

poet of the king.

2. Major achievement of Bhakti movement was its abolition of idol worship.

3. Chronicle is a factual written account of important or historical events in the

order of their occurrence.

4. Monuments and Inscription are two archaeological souces of information.

Archaeological sources include buildings, houses, pottery, seals , coins,

monuments , writings and paintings on stones or walls , tools, jewellery, bones,

leftovers, pieces of metals and other artefacts.

Hence, option 2 is FALSE.

Question 89 :
A boy, of mass 50 kg, runs up a staircase of 45 steps in 10 s. If the height of each step is 14 cm, find his power. Take g=

10ms2

Difficulty : Moderate Average Time : 94 Seconds

Options :
1. 315 ms

2. 315 W

3. 337.5 W

4. 310.55 J

Solution :
The correct answer is option 2 i.e. 315 W.
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Given:

Mass m = 50 kg, g = 10 ms , height = 14 cm = 0.14 m-2

Here,

Potential energy = mgh

= 50 × 10 × 0.14

= 70 Jule

Since there are 45 steps:

Total energy = 70 × 45 = 3150 Jule

So,

Power = Energy/time = 3150/10 = 315 W

Question 90 :
Pointing to a photograph, Neha says "She is the daughter of the only son of my maternal grandmother". Whom she is

pointing at?

Difficulty : Moderate Average Time : 58 Seconds

Options :
1. Brother

2. Maternal uncle

3. Friend

4. Cousin

Solution :
The correct answer is option 4 i.e. Cousin.

Understanding Application
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Pointing to a photograph, Neha

says "She is the daughter of the

only son of my maternal

grandmother".

Suppose Y is neha’s maternal

grandmother & Z is her son.

W is the person in photograph.

Following family tree can be prepared:

Hence, Neha is pointing at her cousin.

Question 91 :
The work done in moving a charge from one point to the other is 20 J. If the potential difference between the points is to 10

V, the charge is:

Difficulty : Moderate Average Time : 93 Seconds

Options :
1. 4.0 C

2. 2.0 C

3. 0.5 C

4. 1.0 C

Solution :
The correct answer is option 2 i.e. 2.0 C

The work done in moving a charge from one point to the other is 20 J.

Potential difference between the points is to 10 V.

We know that:

Work done (W) = qV

 20 = 10q

 q = 2.0 C

Hence, the charge =  2.0 C
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Question 92 :
In January 2018, which Indian was conferred with France's highest civilian award, Legion d'Honneur?

Difficulty : Moderate Average Time : 56 Seconds

Options :
1. Ashutosh Rana

2. Soumitra Chatterjee

3. Vijay Raaz

4. Vinod Nagpal

Solution :
The correct answer is option 2 i.e. Soumitra Chatterjee.

Veteran Bengali actor Soumitra Chatterjee received the Legion d'Honneur,

the highest French civilian award for his contribution to cinema

He is best known for his collaborations with Oscar-winning film director

Satyajit Ray, with whom he worked in fourteen films.

Satyajit Ray had received the award from then French President Francois

Mitterrand in 1987.

Question 93 :
As many as 6,117 Kuchipudi dancers set a new Guinness World Record by performing together in a single event at:

Difficulty : Moderate Average Time : 60 Seconds

Options :
1. Vijayawada

2. Chennai

3. Hyderabad

4. Bengaluru

Solution :
The correct answer is option 1 i.e. Vijayawada.
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As many as 6,117 Kuchipudi dancers set a new Guinness World

Record by performing together in a single event in Vijayawada district

of Andhra Pradesh.

The Guinness adjudicator declared that the 12-minute "Jayamu

Jayamu" item was the 'Largest Kuchipudi dance' performance.

Dancers from across the world, including those from the US, UAE, UK,

Russia, Hong Kong and Mauritius took part in the performance.

Question 94 :
Select the term that relates to the fourth term in the same way as the first term relates to the second term. Beer :

Fermentation : : ? : Decomposition

Difficulty : Moderate Average Time : 63 Seconds

Options :
1. Bacteria

2. Yeast

3. Fungus

4. vermicompost

Solution :
The correct answer is option 4 i.e. Vermicompost.

Understanding Application

Beer : Fermentation

Here, we know that

beer is prepared by

the chemical process

called ‘Fermentation’.

Similarly,

Vermicompost is the

product of the

decomposition

process using various

species of worms.

Hence, vermicompost

is the answer.

Question 95 :
Mr. X runs a marathon starting from the point A he runs 5 km towards north and reach point B, then turns right runs 6 km

reach point C, then turn light runs 8 km and reach point D, then turns right runs 10 km and reach point E, then turns right
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runs 6 km and reach point F, then turns right runs 1 km and reach point G, then turn rights runs 3 km and reach point H.

The shortest distance between point D and G is?

Difficulty : Moderate Average Time : 69 Seconds

Options :
1. 2 13

2. 13

3. 3 13

4. 13

Solution :

Correct Answer is option 3 i.e. 313

Understanding Application

From the given information,

following diagram can be

prepared:

 

Hence, positions G and D can be

represented as:

 

So,

Shortest distance between point D

and G = (9  + 6 )2 2

= 117

= 313 km

Question 96 :
1m = .........nm
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Difficulty : Moderate

Average Time : 127 Seconds

Options :
1. 106

2. 107

3. 108

4. 109

Solution :
The correct answer is option 4 i.e. 109

1 m = 10  nm9

A nanometer (nm) is a unit of spatial measurement.

The name combines the SI prefix nano- with the parent unit name

metre.

Question 97 :
In negative acceleration, the velocity of a body ..............

Difficulty : Moderate Average Time : 54 Seconds

Options :
1. remains constant

2. is zero

3. decreases

4. increases

Solution :
The correct answer is option 3 i.e. decreases.

Negative acceleration, also known as retardation, is the phenomenon of

some object's velocity decreasing over time at a steady rate due to some

component of force acting opposite to the direction of velocity.

Example: Brakes applied in a car, a rolling ball that slows to a stop.

Question 98 :
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Which of the following statements is/are true? A. Out of 124 elements, 22 are non-metals, and other are metals. B. Every

ore is a mineral but every mineral is not an ore.

Difficulty : Moderate Average Time : 60 Seconds

Options :
1. Only B is true

2. A and B are both true

3. Only A is true

4. A and B are both false

Solution :
The correct answer is option 1 i.e. Only B is true.

A. Out of 124 elements, 22 are non-metals, and other are metals. (
False as there are metalloids also. There are 17 nonmetals, 7 metalloids

and rest metals in modern periodic table)

B. Every ore is a mineral but every mineral is not an ore. (True as The

elements or compounds of the metals which occur in nature in the earth’s

crust are called minerals whereas ore is a mineral from which the metal is

profitably extracted.)

Question 99 :
0, 1, 1, 2, 3, 5, 8, 13, ........, 34, .... The missing term in the number series is:

Difficulty : Moderate Average Time : 73 Seconds

Options :
1. 20

2. 22

3. 25

4. 21

Solution :

Correct Answer is option 4 i.e. 21
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Concept Application

Logic:

3  term = Sum of 1rd st

and 2  termnd

4  term = Sum of 2th nd

and 3  termrd

And so on…

0, 1, 1, 2, 3, 5, 8, 13, ........, 34, ....

Here,

0 + 1 = 1

1 + 2 = 3

2 + 3 = 5

3 + 5 = 8

5 + 8 = 13

8 + 13 = 21

13 + 21 = 34

Hence, the missing term = 21

Question 100 :
Damini is twice as old as Hari. Had is 5 years older than Nipa. In 5 years, Damini will be three times as old as Nipa. How

old is Hari now?

Difficulty : Moderate Average Time : 149 Seconds

Options :
1. 7

2. 6

3. 8

4. 5

Solution :

Correct Answer is option 4 i.e. 5

Understanding Application
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Damini is twice as old as

Hari.

Suppose age of Hari is ‘H’.

So,

Age of Damini = 2H

Hari is 5 years older than

Nipa.

So

Age of Nipa = H – 5

In 5 years, Damini will be

three times as old as Nipa.

So,

2H – 5 = 3(H – 5 + 5)

H = 5

Hence,

Age of Hari = 5 years

Rrb Group D CBT - 1 Previous Year Question Paper
Analysis
The analysis of Rrb Group D CBT - 1 Previous Year Question Paper held on 2018-10-25 in the Morning exam is as

follows:

1. 100 questions were moderate.

2. The safe score is 77 marks.

3. 100 questions were asked from CBT -1 and 100 questions were asked from CBT -1

4. 28 questions should have been skipped if you were short of time.

Rrb Group D CBT - 1 Previous Year Question Paper
Topic Wise Weightage

CBT -1

Rrb Group D CBT - 1 Previous Year Question Paper
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Tips and Tricks

1. Try to solve Rrb Group D CBT - 1 Previous Year Question Paper without taking any help from the solutions.

2. Rrb Group D CBT - 1 Previous Year Question Paper require proper usage of concept so firstly read the question

thoroughly and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question

and move to the next question.

Daily Current Affairs

KD Live is providing Current Affairs on a daily basis for Railways and a Current Affairs Quiz too for the practice.

KD Live Free Offerings
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Answer Key

Important Days

Further Guidance on Rrb Group D CBT - 1 Previous Year Question
Paper
For Asking any query on Rrb Group D CBT - 1 Previous Year Question Paper please mail Send Email or you can fill the

form at KD Live.

About KD Live
KD live has an expertise in providing apt explanations for the Rrb Group D CBT - 1 Previous Year Question Paper since

2008. More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam.

Study.kdcampus.live is providing free information on various topics and for the Rrb Group D Exam you can refer the

following link Click Here however if you want to practice more questions then please refer the following link Click Here.

About Neetu Mam
Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Rrb

Group D CBT - 1 Previous Year Question Paper. She has guided her team to provide the best explanation for the

question.
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